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General Instructions: Ple_:a'se read Vc-arefu_l‘!iyj_,

Full Name

i

Do not break the seal on this booklei until instructed to do So by’the |

invigilator. Anyone breaking the seal prem

: aturely will be evicted from the
examinalion hall-and his/her candidature wii be cancelled. 8 '
Immediately after you receive this booklet, fill in your Name and Rolf
Number in the designated space al the bottgen of lhis page: o
Check that you have a bubble-sheet and an answer booklet accompanying
this examination booklet. . R . S
Following the instructions on the bubble-sheet, fill in the oo
informalion in Boxes 1, 2, 4, 5 and 6: The invigilator will sign in B 5

enter 01 as your series number. ,
Fhe examination has two parts. Questions in' Part | arg 10 be anzy.- s -
the bubble sheet only, and will be-checked by a machine. Theréfoic: it is

very important that you follow the instructions on the bubble-gls e,
Fill in your Name and Roll. Number on the. detachable stip on the a;

booklet. _U_-_seh' this booklet té-an'swef quegtiqd'gi'_-in' Partifl. You care )

~ the spare pages of the answer booklet for rough work fof both Parts.

CIn.
Box 4, enler your rolt number as a 4-digit number, e.g. 0123. In ,_:_.;‘@‘::x 6,

Keep your admission ticket easily accessible for verification sy the *

invigitalors. -

When you finish, ha‘nd i.n this boaklel, the a’riééwer booklet and the bqi.i:h!e-l

sheet to the invigilator, , . . -
Do not disturb or talk to your neighbours at any time. Anyone engsis
In illegal examination practices will be im_mediately evicted ar:d thal
person’s candidature will be cancelled. .

Only after the invigilator an'nounces'th_e_s{an of the examination, bresis v
seal on this booklet and foliow ihe instructions on Page 4. -

- Roll Number
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The Examination has two parts, Attempt both parts.

: PART I
his[ru'c:l_- tons: .

¢

(Maximum Marks 50)

G. I‘mt cheek that (his booklet haspages numbered | through 9 Bring any

MsSing pagesto the attent

ion of the invigilator. -

*» This part of the‘ffxan'm ation consists of 25 inultiple-chojce questions. Each

Sfor each incorrect choice. If you shade none of the bubbles, or

“bubble, you wil] gerd for t

*  Usethe blank spaces in thj
work. This rough work wij

* Yournmybegin ngw. Good luck.

hat question,

s ibookle[ or pages in your answer-booklet. for rougly

I not be read or chpcked. .

). The nine digits 172, - 9 are amanged in random order to form

number, which tuses each digit exa

ppeir as neighbours in the iucrcnsi.ng vrder,

:;1') ) %2

b) %2 }

9 S

R o
()

2 Ina survey of 102 Timappue residents in 2000
be Rs. 4635 per month. Previous studi, '
this Jocalilfy_‘to be Rs. 12342 Permonth. It is asserted tha; the average monthly income

ctly once. Find the probability that 1

ver, youwill lose 2/3 mark

more-than one

anine digj
,2 and 3

is Rs. 4650 in this locality, Which conclusion below can pe asserted from this

informati on?

a) " The assertion is rejected at the 109 level,

b) - The assertion js rejected

at the 5% leve].

) The asseriion I$ not rejected at the 109, levei.
d} Noneof the above. :
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4~ Consider two events A and B with Pr(A) = 0.4 and Pr(B) = 0.7 The maximum
and mmimum values of Pr(ANB) respectively are: T

2y (0.4:0.1) -

b} (0.7;0.4)

‘ ) (0.7:0.1) . g o
¢ . d) (04:0) o |
- o gt
5. Jaiand Vijay are taking a exam in statistics.. The exam has only three grades A, 3 7
and C. The probability that Jai gets 2 B 15 0.3, the probability that Vijay getsa Bis . -
0.4, the probability that nejther gets an A, bt at least one gets a B is 0.1. What is the
probabitity that neither gets a C but at least one gets'a B2 ' SRR
a) 0.1 .
b} 0.6 .
c) 0.8 o
&) Insufficient data to answer the question
6. You've been told that a family has two children and one of Lfie.\;c is '
a daugliter. What is the probability_that the other child.is also a daughter?
a) 12 , .
by 3 o - i
¢) 1/4 . :
d) 374
Questions 7 and §. Suppose least squares is used (o fita line relating v and x, naniely
¥i = B+ Bax + & . Assume that in our data not all the: x's are identical, so. thatat 5
leastsome of the x's are diffe:féllt.-fronﬂ their sample nic;a_n i Now considegthe; a

following possible assumptions about our data.

() Eey=0.

(2)  Cov(xig)=0Q. . :
3) HpmoSkcdasticity: Var(e;) = 67, a constant.
(4)  No autocorrelation: Cov(eig) =0 for ixj. -

Indicate the one best answer to'each question befow, *

7. When are the least-squares estimators unbiased? :
a) Only if our data satisfy assumptions (1) and (2). _
b) Only if our data salisfy assumptions (1), (2 (3), and (4).”
¢) Only if ouridata satisfy assumptions (1), (2), and (3).
d) Only it our data satisfy (1), (2), and 4.

8. When are the least-squares estimators “'best” (fowest variance} of any unbiased:
eslimarltors

a} Only if our data sarisfy assumptions (1) and (2).

b) Only if our data satisfy assumptions (1), (2), (3), and (4).

¢} Only if our data salisfy assumptions (1), (2)..and (@).. .

d) Camnol be deterntined, without additional assumptions.

Sericfs’ al
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5, _Rmfito and Juliet have 06 chocolates 1 divide betweey them. _Ronfeg has the titility
.t - i 3 4 | . . ap- . . O <
funcnou U=p Jandt N has the utility functio), ¢/ = R‘\]’s where R is

IRy Swern

Romeo’s chocolare conswmption and J is Juliet's chocolate con}sumptign_ Which of the
j following is trye - . ‘
4) Romeo would wany to_give Julict some chocolates if he had more than 6.
! by Julier wolild Want to give Romeo Some chotolates jf she had more than 60,
b €} Romeo and Juliet would never di.sa‘gre¢. abouit how to divide the chocolates .

dj- Jul ie:rw_ouf_d Wit to-give Romeo some Ch0c}:ifate_s if she had more than 64-
chocolates. e L

) »A_cdijs‘uni’ér-‘xpé_ﬁds.'_‘ii' mcome of Rs. 10 011 001y two goods, A 2d B, Assume
non satistion, i.e.. moge 0.]!’ My 8ood is prefesred (0 less. Suppose the price of B jg
fixed at Rs. 20, When the price of A s Rg, 10, the consuper buys 3 wits of B. Whep
the price 6f A is Rs. 20, bhe burys. 5 units of & From this we can conclude

Lo Adis an inferiop good
A dsa Giffen goog - _
HI 'Bisa c_‘oun_)!cmen!_iofA

a) | only

by Tand

<} Tand 1)
AL andg L1y -

! - : .

Questions ‘1 and 12 ‘Suraksha* 15 the sole Producer ang Slrljlqliei‘ ofsrzcurity systems
i India and'the sole employer of locksmiths in the labour markey. The demand for
security Systems is..D( p) =100~ b where P is the price. The pi‘od_uctjon of security,

..Systems only reqizil_'eslockkmith_s' and the production fun;:tion is given by f(1) = 4L,

given by L(éu) = max 'O;%E—-ZO » Where w isthe wag.é.mre.i

11. How njﬁ"iny locksmiths wi)| ‘Suraksha’ employ?

)
N ) 10
¢ 15
dy - 20

12, If the governmeny Sets the minim_:um wage is70 . how many locksmiths wij
Suraksha employ? - ' '

» 2 5 o
by 10 LA

e C) o : 1‘5 j %
d) - - 20 - '
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"Believing that’books and movies are.perfectly divisible, compute the optirmil :
-consurnption bundle under each scheme. R A

Questions 13 -ad 14 Suppose-that a typical-graduate student at the Delhi Sehes

Economics lives in d'two good world., books { x } and movies {y), with uti]it_\_,-f

1/ - a : .o
function u(x, ¥) =x/5)_r/5. Prices of books and movies are S0 and 10 respectivels

Suppose the University is considering the following schemes.

Schﬁﬁme 1: 75@ is paidas fellowship and additiona} 250 as book grant. Natur;—.ff;, il
grant ¢an ealy be spent on books. ' ‘
Scheme 2: 10G0 as scholarship and geis one mo

vic free on'each book they puréini: .

13. Optimal ansumpnon_bundlc mder scheme 1ds
AT (4 books, 80 movies) '
b) {5 books, 75 movies)
¢} 6.5 books, 57.5 movics)
~d) €10.books, 50 movies)

14, Optimal consumption bundle under scheme 2 is.
* a) {4'books, 80 movics) -

© b) (4 books, 84 movies)

c) (5 books, 75 movies)

d) (5 books, 80 movies)

15. Let X stand for the consumption set and let R, LoPrespeciively stand {50
preference relation, indifference relation and sirict preference relation ofa cone
The weak preference relation R is said to satisty Quasfuansicivity it and only ¢! 2D
X, ¥, z belonging to X, xPy and yPz -— xPz, Whichof the following preference
relations over X = {x.yiz) satisfies Quasiwansitiviry?” 0 B

a) xPy&yPr&epx - U L 8
~B) xPy &'yPz & zIx I ' -

¢) xPy & ylz & zIx =

d) yPx & ylz & xPz

£6. Consider an exchange economy with two consumers (A&B) and two goods |
(x&y). Assume that tofal.amnount of x available is 4:and total amount of y availahic iz
2 which is to be optimally distributed between A & B. A’s utility funciion is Ui =
Xath dXaya + 4yatand B's utility function is Ug = xg+ yg. The contract curv:
exchange economy will be: : '
a)  the entire boundary of the edgewarth box
b)  allocations satisfying (x,=0, 0<y.<2) and (0<x <4, y5=0)
€} allocations satisfying (0<x,<4, yA=0) ind (xp=0, 0<yp<2)
- d)  all poins inside the edgeworth box. & -
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a) (i) m_%d (it)
b} (it) and (1)

o) (i) and (i) -
b nd_mf:ﬁ o
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QUESTION. 6. It there’is a one sh-ot-inerease'ih the parameter ), . | .

e T

, (a) equilibrium outp'ut_un‘éimbigu_ous]y i'nc.re_ases_'
_(-b) equilibrium output 'unambiguously deereases ‘
(c) equilibrium output Temains unchanged . o - {

(d) equilibrium increases or decreases depending on w_};ether A>1/2

{a) equilibrium output unarﬁbiguous]y_-increases : ' o
- {b) equilibrium output unambiguously decréasgs )

(¢) equilibrium outpul remaijns unchanged

LQUESTION g. If there is a one shot increase in the parémeter g,
{a) equilibrinm output unambig{lously Increases .

(b)‘equi]ibrmm oulput unambiguously decieases

{c) equilibrium Qulput r_exnainqupéhanged'—__ ‘ S . . )

(d) equilibr:iu'rh :J'-ncrea_;ses'br d'éc-r&fse_‘s debending-.on whefther_ X >'1/2 . L - PR

LUEBSTION 9. Snppo_se-X; dnd X ,
TOmmon pr‘obabii.ity density function. Suppose (T1,2,). is a sample g.enér‘ated.by t.héée S
“ivndom varjables. The expectation of the number of bbserva!;ions in the sample that fal) )

within a specified interva} [a, 8] is « ' '

© (12 /() az)’

2 are rea]—vaiuea_fapddm ‘variables with f as their

() 27/ (2) : . q
(¢} 2]:;’(3:) e ' . - . .
() f:.tf{:r:) dx _ ' ‘ - .
LIVIESTION 10. Suppose Xyiooo. X, are observed completion times of an expérimeﬁt_
wikh valyes 1)y [0. 1]..Each of these randorn variables js uniformly distritf;uted on {0;71]. If
15 Lhe mMaximuym observec] completion time, then the mean of ¥ s . Qi
(%) [n/(n + 1)) | - | T
{by) nf2n + 1) - .
(¢} nf{n + 1)

() 2n/(n + 1) i
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= X2 Which of the following ¢

(a) sin ()
(b) Sinﬁj(r) +orf2
(c) sin~Nz) froy 1/2

. (d) sin*!.(z,)/n;{yg, :

s kz, iz ¢ [0, 5)
Hz) = !c(lO—-:r),, J'fIE[S,IO)
O

. , iz e g, co)
UESTION 14 4,
Go
(b) 225
(c) 125 . _
(@) 275 - .

is a probability density fonction, the value of k myst be

ent that y 2 5 and let B be the event ﬁl)at A€ [3. 3].
* ProbabiliLy of A fco_nditiénal on B s ;
P |
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PART II (Maximum Marls S0) -

Note: Attempt any TWO of the following three qﬁmtinns, in the answer boolc
provided to you. Each question is worth 25 marks. The allocation of mavlks
for each part is given alongside. o :

pe (:& Consider an exchange econamy with two ccj,nsumcrs A and 3 and two goods x (.

R and y. Initial endowment of A and B are (0.1 and (1.0) respectively. The utility e
functions of A and B are as follows: : B L

g o Ult=alna 4 Cl-aytmy* o 0 T o

' u® = min(x"”, )‘{B) e K - T ' '

Calculale the marker. clearing price and equifibriumalloeation: + - 15

(DQ‘A firm’s cost function ig Clw,,w,,0Q) = w,"wng-Where Wi arcTinput prices ang.
~Q soulput. What restrictions weuld you put on aand b? Give rcasons For your
answer, s

'(& Derive the expenditure function if the atility function is U = axy + hxy. 3

2. {a) Setup.the Ramsey-Cass-~Koapnians model of optimal growth,
1b) Derive the balanced growth path forthis model.. ,
(¢ In such a model what is the Hnpact of afaltin the distgunt rate? _
- ' ' 1543+5

3. A study on industrial employlﬁenl in the US estirnated the“following mode! by OLS
using ammual data for 22 years: - L

EMP = -7.652+ 0513INC - 0.251 WAGE + 0.622G -
S, COSED r@723) - -ig22) (6.833)
= R=098 -~  DW=1647

where = o o . ° -

- -

EMP = total employment: INC = totai ncome ; WAGEz.avcfztgc hourly wage'rate
G = total government expenditure = ' o

All variables are in logarithmic terms and the I-statistics are given in parentheses.:

%)/Do the signs of the equation conforim (6 your expectations? Explain. ‘
- 3 marks

O)(Tcst the individual significance of the independcn( variables at the 5% level.:
Explain your results. ) 4 marks

Test for the jomnt significance of the'independent vaciables at the 5% level. -
' | 3 marks

\%a]culaﬂz the Adjusted R? and interpret it. _ 4 mmarks .
Nest for serial corvelation at the 5% level. What do you conclude? 3 marks '
N Explain the consequences of serial correlation in the residuals. 4 marks

gy Tt is suggested that the interest rate showld be included in the model. Asswing
" Cthat this is a valid suggestion, what are the consequénces of excluding the inrérest
rate from the above equation? g 4 marks
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